GREY GROUP

la. What is the capacity of each

container?
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What is the volume of the liquid in
each ¢ ontainer?
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1b. What is the capacity of each

contoiner?
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What is the volume of the iquid in

each container?
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2a. Calkoulate the volume of the shape.

1 cube = Tcm?

2b. Calculate the volume of the shape.

1 cube = Tcm®
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Ja. Mya says the volume is 600miE.
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3b. Archie says the volume is 12cm?.
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GREEN GROUP

4a. What is the capacity of each

4b. What is the capacity of each

container? container?
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What is the volume of the liquid in
each container?

What is the volume of the kquid in
each container?
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5a. Calculate the volume of the shape.

1 cube = 1em?

5b. Calculate the volume of the shape.

1 cube = lem?
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6a. Sara says the volume is 180mE.

True or false?

&

, .‘ )
L 4

6b. Eddie says the volume is 2 Tem?
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True or false?
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GOLD GROUP

7a. What is the capacity of each
container?
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What is the volume of the liquid in
each container?
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7b. What is the capacity of each
container?
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What is the volume of the kquid in
each container?
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8a. Calculate the volume of the shape.

1 cube = 1em?

8b. Calculate the volume of the shape.

1 cube = Tem?
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9a. Deepal says the volume is 70ml.

True or false? f.: \

9b. Amelia says the volume is 40cm3.

True or false?
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